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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 60092912576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

452, 448, 456, 440, , 408
Options :
1. #® 511
2. % 532
3.9 472
4. % 435



Question Number : 1 Question Id : 60092912576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad dven e d qud g 1d H1 |

452, 448, 456, 440, , 408
Options :
1. #® 511
2. % 532
3.9 472
4. % 435

Question Number : 2 Question Id : 60092912577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Easter

2. Emphasis
3. Euphoria
4. Ecstatic
5. Easier

Options :

1. % 14253
2.9 51423
3. % 25143
4. % 14235

Question Number : 2 Question Id : 60092912577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T v P ST HH A HIRUT P ST HAH I UsSHIT A Bl B

1. Easter




2. Emphasis
3. Euphoria
4. Ecstatic
5. Easier

Options :

1. % 14253
2.9 51423
3. % 25143
4, % 14235

Question Number : 3 Question Id : 60092912578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Cautious
2. % Inattentive
3. % Careless

4. % Negligent

Question Number : 3 Question Id : 60092912578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawed & 9 & Te Ay e S 90 § | 8TalD, Uh fAwed o1 diF &1 dve -Ta] ¢ | 39 [aded &1 78 &3 Sl 3 4 3T g |
Options :

1. ¢ qadd

2. % gyRfed

3. % qUdE

4. % IURdlg

Question Number : 4 Question Id : 60092912579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ UY
2. % HM
3. % SX
4. % RW

Question Number : 4 Question Id : 60092912579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te Ay e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 4 3T |
Options :

1. ¥ UY

2. % HM

3. % SX

4, ¥ RW

Question Number : 5 Question Id : 60092912580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair from the option that is similar to the pair given in the question.

Sunrise : Sunset :: ?
Options :

1. ¥ Sea : Shore

2. # Footpath: Highway
3. # Dictionary : Word
4. % Pen : Paper



Question Number : 5 Question Id : 60092912580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIpey 7 T 3T SIS BT T B ol U 7 <1 1S Siel & JH g |
ﬁ*ﬁ?q:ﬁqiﬁ::?

Options :

1. ¥ g . dc

2. % Heury: ASHT
3. % YeGhIN: eq
4. % HH . DI

Question Number : 6 Question Id : 60092912581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

78 :41::106:7?
Options :

1. # 60

2.¥ 55

3. % 64

4, % 45

Question Number : 6 Question Id : 60092912581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B I R Ue J I UHR ¥ Ja&fd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7

78 :41::106:?
Options :

1. % 60

2.9 55




3. % 64
4. % 45

Question Number : 7 Question Id : 60092912582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if 65328918 is coded as FECBHIAH, then what will 6742689 be coded as?
Options :

1. ¥ FGDBFHI

2. % FIBGFHI

3. ¥ FGDBFIH

4. ¥ FDGBHFI

Question Number : 7 Question Id : 60092912582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS FTEd B W1 H, (S 65328918 BT FECBHIAH & U B HITSd a1 TT 8, Al 6742689 B H8 BIS bl ST
Options :

1. ¥ FGDBFHI

2. # FJBGFHI

3. ¥ FGDBFIH

4. % FDGBHFI

Question Number : 8 Question Id : 60092912583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if DOLLAR is called POUND, POUND is called EURO, EURO is called RUPEE, RUPEE is called DINAR, then
what is the currency of Italy?

Options :

1. % DINAR
2. % EURO
3. ¥ RUPEE



4. * POUND

Question Number : 8 Question Id : 60092912583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i Bie U #, afe STeR &) U1ds Fel a1 €, U8 S &l JRI Hel 71 8, T B $UT gl 71 &, 3T &1 SR gl T 8, dl geait
CAR AR K

Options :

1. % dFR

2. % [

3.9 %0Y]

4. % U138

Question Number : 9 Question Id : 60092912584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many odd numbers are there in the given sequence which are exactly divisible by their immediately succeeding number?

13243752179331796836
Options :

1. %2

2. % 4

3.3

4. % 1

Question Number : 9 Question Id : 60092912584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 3 gepH T T forait fao TReATt & Sff 31Ut ¥ §1e &1 T ¥ quia: faHTford giat 82

13243752179331796836
Options :




1. % 2
2.% 4
3.3
4. %1

Question Number : 10 Question Id : 60092912585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One fine morning, Ashish was standing facing a pillar. The shadow of the pillar fell to the right of Ashish. In which direction was he facing?
Options :

1. ¥ South

2. % East

3. # West

4. * North

Question Number : 10 Question Id : 60092912585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YeTa-! gag, RN U W o HTH- T b WSl AT | T B BT MY & &Y 3R k| 31 g fobvy fg=m o U
Options :

1. ¢ &

2. % Ud

3. % UiEH

4. % 3t}

Question Number : 11 Question Id : 60092912586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the

statements are true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.



Statement I: Some prime are netflix.
Statement II: All netflix are hotstar.
Statement I1I: All hotstar are spotify.

Conclusion I: Some prime are spotify.
Conclusion II: All spotify are netflix.

Options :

1. ¥ Only I follows

2. % Only II follows

3. % Both I and II follows
4. #* Neither I nor II follows

Question Number : 11 Question Id : 60092912586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UY A, I By feu U B, e 918 &l freen 1 3R 11 fau 77U § | 98 A1d gU foh oy & Ml oMel 9 ©, < sl o1 U A1y
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Options :

1. ¥ Had [ IR0 Hal §

2. % I I1 TRV BT §

3. % 13RI GH 3TERUI d §

4. % Q1SRG I AR IRl §

Question Number : 12 Question Id : 60092912587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, one statement is given, followed by two assumptions, I and II. You have to consider the statement to be true even if it seems to be



at variance from commonly known facts. You have to decide which of the given assumptions, if any, is implicit.

Statement: A television not only has entertainment value but also has educational value.
Assumption [: People seem to ignore the educational value of television.
Assumption II: People take television to be a means of entertainment only.

Options :

1. #¥ Only I is implicit

2. % Only II is implicit

3. ¥ Both I and II are implicit
4. % Neither I nor II is implicit

Question Number : 12 Question Id : 60092912587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H T By fear a1 g, foe 91¢ S URumy 1, 3R 11 &) 1S 81 3TUeh) 39 Sl ) I HIFHT §, HA 81 I8 IrH=Ia: J1d a2 I fire
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Options :

1. % Pad 1 fRa g

2. % Haa nFlRde

3. ¢ 1 3R 11 g fAfed §

4 % FAARAT RIS

Question Number : 13 Question Id : 60092912588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following number series.

90, 108,126, 144, 164
Options :



1. ¥ 164
2. % 144
3. % 108
4. % 90

Question Number : 13 Question Id : 60092912588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferfed T gaar # 7ed ug J1d R
90, 108,126, 144, 164

Options :

1. ¥ 164

2. % 144

3. % 108

4. % 90

Question Number : 14 Question Id : 60092912589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # 2025
2. % 900
3. % 625
4. % 1800

Question Number : 14 Question Id : 60092912589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiwedl A @ & e Rfya % T TuE 81 gTlTe, T faeed 3 diF ot aRE Tl ¢ | 39 fahed &1 I8 &Y oY 30 ¥ 3T B




Options :
1. # 2025
2. %900
3. % 625
4.+ 1800

Question Number : 15 Question Id : 60092912590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among Engineers, Graduates and Postgraduates?
Options :



Question Number : 15 Question Id : 60092912590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o1 1 39 IR SAfArsi, Wde! 3R Hdb Rl & §1d & JaY B o 33T ST 82
Options :

1. #




Question Number : 16 Question Id : 60092912591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tech fest was organised in a college. The following Venn diagram shows the number of students who participated in four different games. Find
the number of students who participated in at least three games.

Options :
1. % 20
2.9 25
3. % 23
4. % 21

Question Number : 16 Question Id : 60092912591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 20
2.9 25
3. %23
4. % 21

Question Number : 17 Question Id : 60092912592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the pair which is different from the pair in the question figure.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1.



Question Number : 17 Question Id : 60092912592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl Uy 3Mpia H fyd siet I i g
Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :
1.



Question Number : 18 Question Id : 60092912593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there is a certain relationship in between figure A and B. Find the figure from the option which bears the same
relationship with figure C.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1.



Question Number : 18 Question Id : 60092912593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, sepfd A SiR B & o1 s FAf¥d ddy §1 fadweu & ¥ a8 3apfd I1d & St S1H 1A ¢ & 1Y JAH ey TGl 8 |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1.







Question Number : 19 Question Id : 60092912594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.



Question Number : 19 Question Id : 60092912594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe T U1 Y [T MN TR TG SI1dT 8, Al SR 3Tpfa # @ B & &) 71 3repfal 1 gl ofd 2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1.



Question Number : 20 Question Id : 60092912595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the total number of smallest size cubes in the given figure.

Options :
1. % 32
2. % 24
3.¥ 64
4. % 16



Question Number : 20 Question Id : 60092912595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 TTS TP & TaU BT STHR & T b Hdl AT A1 DR

Options :
1. % 32
2. % 24
3.¥ 64
4. % 16

General Awareness
Group Number : 2
Group Id : 600929526
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 600929681
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929815
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 60092912596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Theyyam festival originated in which of the following states?
Options :

1. # Karnataka

2. ¥ Kerala

3. ® Tamil Nadu

4. % Telangana

Question Number : 21 Question Id : 60092912596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I DI Yo Fyfeied & I fea =g 4 gs o
Options :

1. % PcH

2. ¥ B

3. % A A1g

4. % QT



Question Number : 22 Question Id : 60092912597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following churches is located in Goa?
Options :

1. ¥ S¢ Cathedral

2. % St. Paul's Cathedral

3. % Santa Cruz Basilica

4. % St. Andrew's Church

Question Number : 22 Question Id : 60092912597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad & I & 91 FRSeR Mar § fRa g2
Options :

1. ¢ JHYsd

2. % Yo Uid HIgd

3. % idT ol SRferenT

4. ® e tsgad

Question Number : 23 Question Id : 60092912598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to data collected by the World Economic Forum, as of 2019, India is the world's largest consumer market.
Options :

1. ¥ sixth

2. % seventh

3. ¥ fifth

4. # eighth



Question Number : 23 Question Id : 60092912598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay snffer i gRT IS sfidhsl & SITHR, 2019 T, R GHAT BT e I8 IUHIGT IOR g
Options :

1. ¥ B3l

2. % gradi

3. % Uil

4. % 33l

Question Number : 24 Question Id : 60092912599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sectors of the Indian economy is the highest contributor to its GDP as of 2020-21 according to the data collected by the
Ministry of Statistics and Programme Implementation?

Options :

1. % Manufacturing sector
2. % Agricultural sector
3. # Industrial sector

4. ¥ Services sector

Question Number : 24 Question Id : 60092912599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iRt Ud HriHH fharag- HATag gR1 UhH [T T Side! & SIOR, YR feqawy o Fufafad & 3 &9 91 85 2020-21 9%
30 GDP & & % TiTaHaddi o7

Options :

1. % fmfor &=
2. % Py e

3. % SfIENfTE &
4. Ja1 &7




Question Number : 25 Question Id : 60092912600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The active ingredient in Aqua tabs (self dissolving tablets that purify water) are:
Options :

1. # Sodium Bismuthane (NaBiOs)

2. #® Sodium Octamolybdate (Na,MOg0O55.4h,0)

3. # Sodium Uranate (Na,UOy)

4. ¥ Sodium Dichloroisocyanurate (NaDCC)

Question Number : 25 Question Id : 60092912600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh1 o8 § Gihy Tued (U ) Y B arell W gareia Mieran) &
Options :

1. % GifegH g (NaBiO;)

2. % ISy 3ifacTaifciesc (NayM0Og0,s.4h,0)

3. % GIfSTH AT (Na,UOy)

4. ¢ QI STH SERIRZANIGIE (NaDCC)

Question Number : 26 Question Id : 60092912601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following chemical compounds is not used as a fertilizer or in the production of fertilizers?
Options :

1. ¥ Fluorine

2. ¥ Magnesium

3. # Potassium

4. ® Nitrogen



Question Number : 26 Question Id : 60092912601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad o ¥ SF 91 IS dife SRS & U T A1 IRD! & ITG H IUART ! [ STl 82
Options :

1. ¢ TR

2. % TRy

3. % OrcRmm

4. % 13

Question Number : 27 Question Id : 60092912602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Gulfs separates India from Sri Lanka?
Options :

1. # Gulf of Bengal

2. ¥ Gulf of Mannar

3. # Gulf of Khambhat

4. % Gulf of Kutch

Question Number : 27 Question Id : 60092912602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & § oF o @1t YR o1 HfcieT F 3/a Hdl 82
Options :

1. % SIS Dt W1

2. ¢ AR $I @rel

3. % WUT &I W@ral

4. % B Dl WISl

Question Number : 28 Question Id : 60092912603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following Border Personnel Meeting points is not shared between India and China?
Options :

1. # Spanggur Gap

2. % Nathula

3. % Bum La

4. ¥ Banbasa

Question Number : 28 Question Id : 60092912603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & I o 1 dm S1itfe do@ fog YR iR 99 & st 9ren 8! fohar i g2
Options :

1. # Wﬁq (Spanggur Gap)

2. % A1l

3. % dHl

4. & J8H]

Question Number : 29 Question Id : 60092912604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ltutmish can be credited with the building of which of the following:
Options :

1. # Alai Darwaza

2. % Quwwat-ul-Islam Mosque

3. ¥ Hauz-I-Shamsi

4. # Jamat Khana Masjid

Question Number : 29 Question Id : 60092912604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SeqartR &1 fafaRaa o 9 fewe o &1 99 faar ST 9% 6:
Options :

1. % 3fdTs gaTSl

2. % HaId-3d-3WIH ARG

3. ¢ BIol-U-=t

4. % AT @1 ARSI

Question Number : 30 Question Id : 60092912605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trade in horses was primarily carried out from which of these centres in medieval India?
Options :

1. % Thanjavur

2. ¥ Kabul

3. # Surat

4. % Bengal

Question Number : 30 Question Id : 60092912605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qhTa YR U Uis! &1 ATUR G ¥ 9 378 9 food o I fovdm Sirar o
Options :

1. % TollgR

2. ¥ Dl

3. % qd

4. % SIS

Question Number : 31 Question Id : 60092912606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Mansabdari system was a trademark of administration.



Options :

1. ¥ Mughal

2. # Delhi Sultanate
3. % Gurjara-Pratihara
4. # Nasiri

Question Number : 31 Question Id : 60092912606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EEREHNEYI] TR 1 fafRrydr ot
Options :

1.« HIIcT

2. % faeefl Yeard

3. % ToR-YfIER

4. % IR

Question Number : 32 Question Id : 60092912607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following writers have won the Pulitzer Prize for Fiction?
Options :

1. % Anita Desai

2. % Arundhati Roy

3. ¥ Jhumpa Lahiri

4. % Chitra Banerjee Divararuni

Question Number : 32 Question Id : 60092912607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ ford araes A fhaem & T gfioRr IR Sidr |2

Options :




1. % 3TaT a8
2. % ¥YUfAIT
3. ¢ AT ISl
4. % o 9l fearemeuft

Question Number : 33 Question Id : 60092912608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The Room On The Roof" is a book written by:
Options :

1. # Khushwant Singh

2. ¥ Ruskin Bond

3. ¥ R.K Narayan

4. % Salman Rushdie

Question Number : 33 Question Id : 60092912608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T 39 ¢ 6 1 gR1 fafad 7w 8|
Options :

1. % Qe Rig

2. ¢ TP S

3. % 3R, &. AR

4. % A IRG

Question Number : 34 Question Id : 60092912609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Union Government of India, on July 6, 2021 created a new ministry which is:
Options :

1. ¥ Ministry of Cooperation



2. # Ministry of Fisheries, Animal Husbandry and Dairying
3. # Ministry of AYUSH
4. ® Ministry of Development of North Eastern Region.

Question Number : 34 Question Id : 60092912609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B g DR A 6 TS, 2021 DI 741 HATAT §1, 57 8-
Options :

1. ¢ A 3% - 3iTRRHA

2. % T, IATA 3R ST-1 HATd

3. % Y HATTY

4. % g & & fqeT HaTed |

Question Number : 35 Question Id : 60092912610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In July 2021, Army Chief MM Naravane inaugurated a war memorial for Indian soldiers in which of the following countries?
Options :

1. ® France

2. ® United States of America

3. ¥ Ttaly

4. ® United Kingdom

Question Number : 35 Question Id : 60092912610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S[ATs 2021 H, TT U@ THUH 9401 - FEfaRad @ ¥ fog < 7 yRda Sf@! & [T g5 RS &1 3gured fdhan

Options :
1. % g
2. % Tgad Iy ARG




3. ¥ gadl
4. % TASCS fhied

Question Number : 36 Question Id : 60092912611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pharma companies was granted permission by the Drug Controller General of India (DCGI) in June to import Moderna's
COVID-19 vaccine for emergency use in India?

Options :

1. # Cadila Healthcare Ltd
2. % Sun Pharma

3. # Abbott India

4. % Cipla

Question Number : 36 Question Id : 60092912611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § frg i Hu=t o1 YR & S HeTeaed gRI o H Hie! & $ifds-19 o &1 HRd H Turdale- SUanT & fag
3{TATd B BI 3FAfT & 718 ot

Options :

1. % HISe g faafics

Question Number : 37 Question Id : 60092912612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which of the following articles did the farmers of the Indian Constitution repeal prior acts passed by the British Parliament?
Options :

1. # Article 343

2. % Article 356



3. ¥ Article 395
4. % Article 51A

Question Number : 37 Question Id : 60092912612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad o 9 fod erfwde & gR1 YR Hfayr fasar A fafex dae gr1 uiid gd siifawi & fed o far am
Options :

1. % 3Jwa 343

2. % 3G 356

3. ¢ TG 395

4. % TG 51A

Question Number : 38 Question Id : 60092912613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Articles 36-51 of the Indian Constitution specify the:

Options :

1. # Fundamental Rights of citizens

2. ¥ Directive Principles of State Policy

3. # Number of seats and election process to the Rajya Sabha

4. ® The powers and provisions with regard to The Union

Question Number : 38 Question Id : 60092912613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TfFe™ & g 36-51 I R &
Options :

1. % NI & Hifeld HTYHR

2. ¢ 17 Hifd o MR Rgid

3. % IoTHT & o el ot Tveam SR gAra ufshan




4. % IY & Yoy H TTT 3R Uy

Question Number : 39 Question Id : 60092912614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the captain of the Indian field hockey team in 1928 when they won the first gold medal at the Olympics?
Options :

1. % Kishan Lal

2. # Dhyan Chand

3. # Lal Shah Bokhari

4. ¥ Jaipal Singh Munda

Question Number : 39 Question Id : 60092912614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafaa & § o 1928 H URAY Wics gid! 1 & S 3, 9d I 3dfte H ugel Wl uge SiidT U1
Options :

1. * HWT cfle]

2. % YHdq

3. % el QM8 gERI

4. ¢ Sruret s gst

Question Number : 40 Question Id : 60092912615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian hockey team won the world cup in the year
Options :

1. # 1971

2. % 1973

3.¥ 1975

4, % 1982



Question Number : 40 Question Id : 60092912615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR gl &1 3 o 7 fay U Sfian

Options :
1. % 1971
2. % 1973
3.9 1975
4. % 1982
Arithmetic Ability
Group Number : 3
Group Id : 600929527
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 600929682
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 600929816
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 60092912616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value should come in place of the question mark (?) in the following question?

59.89 percent of 599.99 + 49.79 percent of 499.99 = 329.01 - ?
Options :
1. % 281
2.9 281
3. % 381
4. % 381

Question Number : 41 Question Id : 60092912616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad gy o wearee g (2) & RIM R AT foa-1 714 3T 91fe @

599.99 T 59.89 UTCTRId + 499.99 BT 49.79 UfARId = 329.01 -2
Options :
1. = 281
2.9 281
3. * 381
4. = 381

Question Number : 42 Question Id : 60092912617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What approximate value should come in place of the question mark (?) in the following question?



50 percent of 78 + ? percent of 90 = 161 x 3 + V841 x 3
Options :
1. ®* 570
2. % 690
3. % 550
4. % 590

Question Number : 42 Question Id : 60092912617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad gy o wearee g (2) & RIM R AT [ 714 3T 91fe @

78 BT 50 UFT=Id + 90 T 2 U= = 161 x 3 + V841 x 3
Options :
1. % 570
2. % 690
3. % 550
4. v 590

Question Number : 43 Question Id : 60092912618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average marks of thirteen students were 63. After checking it came to notice that the marks of a student were entered 39 instead of 52 and
marks of another student were entered 66 instead of 27. Find the correct average.

Options :
1. * 60
2. ¥ 61
3. % 59
4. % 65

Question Number : 43 Question Id : 60092912618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RE BHEI & 3T 3( 63 Y| S &b §IC T8 T Il fob Ueh BT & 3 52 P TOIT 39 Sof fobT T & 3R SR B P 37 27 P T 66
&l [T 7T | T ST J1d e |

Options :

1. % 60

2. ¥ 61

3. % 59

4. % 65

Question Number : 44 Question Id : 60092912619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of boys to girls in a school is 4 : 5. If 45 students from the same school left in the same ratio and 40 new girls joined the school, then the
ratio of boys to girls becomes 4 : 9. Find the new number of boys in the school.

Options :
1. % 32
2.9 40
3. % 48
4. % 60

Question Number : 44 Question Id : 60092912619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fauray o dsd! o1 asfhal I 3Ud 4:5 71 afe I faeed & 45 3 WM 3uTd H faeed s dd § 3R 40 7 asfeat faemed
H 3t B, Al AS ! Bl Tsfohdl ¥ 3UTd 4 : 9 81 ST & | faenea § S &l T3 TRedT 1d By |

Options :

1. % 32

2.9 40

3. % 48

4. % 60




Question Number : 45 Question Id : 60092912620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are N students in a school Out of these, 69 percent students play cricket and 49 percent students play Hockey and 54 students play both
cricket and hockey. Find the value of N.

Options :
1. % 600
2. % 500
3. % 400
4. % 300

Question Number : 45 Question Id : 60092912620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g & N B §, 3780 T 69 Ufawd B fohdhe TWad & 31 49 UTA=Id 815 81! Wald § 3R 54 B fohdpe 3R gl gl Wad &1 N
1 {1 DI

Options :

1. #* 600

2. % 500

3. % 400

4. % 300

Question Number : 46 Question Id : 60092912621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram gains 19 percent after allowing a discount of 15 percent on the marked price of an article. Find his profit percent, if the article is sold at
marked price allowing no discount.

Options :

1. # 20 percent
2. % 30 percent
3. ¥ 40 percent
4. % 50 percent



Question Number : 46 Question Id : 60092912621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I B U a¥g & SHfhd e WR 15 U= &1 Be & & a1¢ 19 Wia=Td &1 a1y 811 ¢ | Ife axg &1 o1 fhell e & siftrd o R a=n
ST 8, < SehT ATy fa=Id I1d & |

Options :

1. % 20 Ufd=rd
2. % 30 gfard
3. ¢ 40 Ufard
4. % 50 gfaerd

Question Number : 47 Question Id : 60092912622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amrita and Bhawna entered into a partnership of handicrafts investing Rs. 13800 and Rs. 17250 respectively. After 4 months, Amrita invested
Rs. 3000 more while Bhawna withdrew Rs. 3000. After 2 more months, Chanda joined the business with a capital of Rs. 12250. By how much
the share of Bhawna exceeds that of Chanda, out of a total profit of Rs. 446100 after one year?

Options :

1. ¥ Rs. 91250
2. % Rs. 146000
3. ¥ Rs. 109500
4. % Rs. 118625

Question Number : 47 Question Id : 60092912622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3R HTGAT = HHRT: 13800 TUY 3R 17250 SUT BT AR FHReb SR B! ARG J TaT fHaT| 4 T & 918, 3Ha1 = 3R 3000
YT H1 a1 o Srafds HTGAT = 3000 $UT A0 o fTT | 2 SR HEHI & §1G, &l 12250 $UT Bt Yoil o 1Y aurd § JMAd g5 | T a8
13 446100 TUT & Hd ATH T I HIGT HT i1 g1 § T 31 & 2

Options :
1. # 91250 ®UU




2. * 146000 >UU
3. % 109500 >UU
4. % 118625 2UU

Question Number : 48 Question Id : 60092912623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, and R invested their money in the 9 : 7 : 8. After 7 months, P invested the same amount as before, Q and R withdraw 3/7th and 3/8th of the
initial investment, respectively. If the total profit at the end of the year is Rs. 20,200. What is R's share?

Options :

1. % Rs. 3250
2. % Rs. 3580
3. ¥ Rs. 2700
4. ¥ Rs. 5400

Question Number : 48 Question Id : 60092912623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, 3R RA MU A9 : 7: 8 H Rawr fHar| 7 48 & 9, P 3 Ugd &1 dg &t UM AR &1 A9 fasan, @ 3R R 7 uRMY R &6
U 3/741 3R 3/891 fewn arow o foran| afe adf & ofd & & @Y 20,200 ¥UT | R FT R 132

Options :

1. # 3250%UU
2. % 3580%UU
3. % 2700 U
4. % 5400 30U

Question Number : 49 Question Id : 60092912624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three types of sugar are mixed together. Their volumes are in the ratio 3 : 5 : 7 and the weight of equal volumes is in the ratio 4 : 2 : 3. What is
the weight of the sugar of the first type if the weight of the mixture is 387 kg?

Options :



1. % 120 kg
2. ¥ 108 kg
3. % 132kg
4. % 96 kg

Question Number : 49 Question Id : 60092912624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TR &1 - D1 T A1y A (B T g 1 S AR 3 1 50 7 % U | § SR TH ST & gl &1 Sud 4: 2 : 3 51 Al
fRTS/0T T YR 387 kg § Al USW UHR & Tt BT aor T g2

Options :

1. % 120 kg

2. ¥ 108 kg

3. % 132k

4. % 96 kg

Question Number : 50 Question Id : 60092912625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 2500 is divided into two parts such that if one part is invested at 9 percent and the other at 4 percent the whole annual interest from both the
sum is Rs. 150. How much was lent at 9 percent?

Options :

1. ¥ Rs. 1000
2. % Rs. 1200
3. #* Rs. 900
4. % Rs. 1500

Question Number : 50 Question Id : 60092912625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2500 ¥UT HI &1 HIT H 39 YR faHTford foar man g i afe Te Uit &1 o ufaerd iR ge HFT &1 4 Ufawd &t & § fawr fear S g, ot
S R  3ifofa Tyl arftfer sat 150 $UW €1 9 Ufer=rd WR faran IuR fear mar ur



Options :

1. % 1000 ¥UTQ
2. % 1200 U
3. % 900 >UUd
4. % 1500>UU¢

Question Number : 51 Question Id : 60092912626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum of money becomes three times of itself in 12 years at simple interest. Find the rate of interest.
Options :

1. ¥ 16.66 percent

2. % 16 percent

3. % 12.5 percent

4. % 3333 percent

Question Number : 51 Question Id : 60092912626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT R AR STl TR 12 T H WG 71 i T[T 81 STl § | STl & 1 PR |
Options :

1. ¥ 16.66 Ula=rd

2. % 16 Uf=rd

3. % 12.5 Ufa=d

4. % 3333 Ufard

Question Number : 52 Question Id : 60092912627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person running at a speed of 4 m/s in a circular track of radius 420 m. If his speed decreases by 1/4th of speed after completing every one
round of track, then what is the time take by him to complete two rounds of the track?

Options :



1. # 1340 seconds
2. ¥ 1540 seconds
3. % 1440 seconds
4. # 1520 seconds

Question Number : 52 Question Id : 60092912627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS G 420 m 01 IS TATBR TY WR 4 my/s DI 110 I 18 8T 8| A ST T Ty & YA Uh IaHR Dl I B & 16 Tl 1/4 J
HH B S ], 1 IY & &) IaHR R A H I fla1 9077 e

Options :

1. % 1340 b8
2. ¥ 1540 Y S
3. % 1440 9 S
4. % 1520 Y g

Question Number : 53 Question Id : 60092912628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average speed of train A and B is 20 kmph. Find the speed of train B, if ratio of the time taken by A and B is 2 : 3 to cover the same distance.
Options :

1. * 16 kmph

2. % 50/3 kmph

3. % 8 kmph

4. % 10 kmph

Question Number : 53 Question Id : 60092912628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%@T@ABﬁTBﬁGﬁWUﬁIzO kmph | YTIST B B 711 1 B3, TS A 3R B GRT YA 3 61 0 B | T 7T T 7 30Td 2:3
I

Options :



1. % 16 kmph
2.+ 50/3 kmph
3. % 8 kmph
4. % 10 kmph

Question Number : 54 Question Id : 60092912629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Varun and Karun can do a piece of work in 18 days and 27 days respectively. Karun starts the work and Varun joined him after some days. The
total work is completed in 15 days from the beginning. After how many days did Varun joined Karun?

Options :

1. ¥ 7 days
2. % 8 days
3. # 9 days
4. % 6 days

Question Number : 54 Question Id : 60092912629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN 3R HHUI U BT Bl HHR: 18 fa 3R 27 i T T Tohdl § | H901 BT Y& Il § 3R $S (ol alg a0 39d A a1 8 |
FA B URY Y 15 &1 o T fora Srar 8 | 3901 fhda fe1 & S1e Ho01 & 91 81

Options :
1.v 778
2. % gfaq
3. % 9fgq
4. % 6faq

Question Number : 55 Question Id : 60092912630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is twice efficient of B. If A takes 30 days less than B, then find the time in which they can finish the job together.
Options :



1. # 15 days
2. % 18 days
3. % 20 days
4. % 24 days

Question Number : 55 Question Id : 60092912630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BU T T HIA g1 AT A, B 30 f&7 &0 7a1 8, ) 98 THT 1A B3 Ford o Th 1Y B &1 I HR bl 4 |
Options :

1. % 15fam

2. % 18faT

3.¢ 20fea

4. % 24faT

Question Number : 56 Question Id : 60092912631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two pieces of wire each of length 56 cm. Using one piece a square is formed and from the other piece a triangle of sides 7 cm, 24 cm,
and 25 cm is formed. The ratio of the area of the triangle to that of the square is:

Options :
1.¥3:7
2.%7:3
3.%1:2
4. % 2:1

Question Number : 56 Question Id : 60092912631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & &I CHhS & o0 I TAH ! AaT8 56 cm & | T Cha DI SUANT Hb a7 11 71T § 3R IR Che 9 7 em, 24 om 3R 25 cm
Tt BT Y 771 8 | S & &t &1 aFf & 8 I 3UTd 6:

Options :




1.¥3:7
2.%7:3
3.%1:2
4. % 2:1

Question Number : 57 Question Id : 60092912632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, breadth, and height of a room is 14 m, 15 m and, 15 m respectively. The ceiling and the walls of the room require painting. What will
be the area which requires painting?

Options :

1. * 960 sq. m
2. % 210sq. m
3. % 870 sq. m
4. % 1080 sq. m

Question Number : 57 Question Id : 60092912632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B8 P AaTS, ASTS 3R HATE HAT: 14 m, 15 m 3R 15 m 8| H& P! §d 3R SIaRI TR TS P SR ¢ | I8 B 91 &7 g S R
S BT SHTIADH A 52

Options :

1. #* 960 sq. m

2. % 210sq. m

3. % 870sq. m

4.9 1080 sq. m

Question Number : 58 Question Id : 60092912633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Table shows the number of computers sold by three showrooms over a period of five years. Total number of computers sold in 2016 is what
percent less than that of 2018?



Year
Showroom
2014 2015 2016 2017 2018
A 500 400 500 600 600
B 400 400 500 400 S00
C 400 S00 400 500 400
Options :

1. * 5 percent
2. % 13 percent
3. % 6.67 percent
4. % 15 percent

Question Number : 58 Question Id : 60092912633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTferesT Uie auf @1 Srafty & i ! GRT 99 7T HEeR) &1 T B a=id 81 2016 H o T SR &1 G AAT 2018 B g1 A
forem Tfa=rd S 82

biirae i
2014 2015 2016 2017 2018
A 500 400 500 600 600
B 400 400 500 400 S00
c 400 500 A0 500 400
Options :
1. % 5 gfa=rd
2. % 13 gfad
3. ¢ 6.67 Ufa=Id
4. % 15 gfazrd

Question Number : 59 Question Id : 60092912634 Question Type :

MCQ Option Shuffling : Yes Is Question Mandatory : No Option




Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The following table shows the sales of books (in Lakhs) from six branches of a publishing company during 2018 and 2019. What is the ratio of
books sold on branches Al and A2 in 2018 together to books sold of branches A3 and A5 in 2019?

=8= 2018 -=-2019
120 -
[ 100 g
% 100 - u /,/ ~—_ % ag ag
£ 80 — N 70 /s.:;_ B N
" ED 7 £0 TTe—————
s L
o 60 4 70 70
Q o
£
& 40 A
5
= 20
w
o
Al Az AZ A4 A5 AB
Branches
Options :
1.% 3:5
2.% 3: 4
3. % 5:6
4. % 6:7

Question Number : 59 Question Id : 60092912634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
l1.%3:5
2.¥3:4
3.% 5:6
4. % 6:7

Question Number : 60 Question Id : 60092912635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the number of watches sold by Quartz increases by 20 percent in the year 2011 when compared to the previous
year. Find the total number of watches sold by Quartz in the year 2011.
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Options :
1. ¥ 300
2. % 270
3. % 320
4. % 250

Question Number : 60 Question Id : 60092912635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 300
2. % 270
3. % 320
4. % 250
General English
Group Number : 4
Group Id : 600929528
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General English
Section Id : 600929683
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929817
Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 60092912636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly had the team unpacked and assembled/ their equipment that the Inspector reported/ on the radio that the dell was clear.
Options :

1. # Hardly had the team unpacked and assembled

2. ¥ their equipment that the Inspector reported

3. * on the radio that the dell was clear.

4. % No Error

Question Number : 61 Question Id : 60092912636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly had the team unpacked and assembled/ their equipment that the Inspector reported/ on the radio that the dell was clear.
Options :

1. ¥ Hardly had the team unpacked and assembled

2. % their equipment that the Inspector reported

3. # on the radio that the dell was clear.

4. % No Error

Question Number : 62 Question Id : 60092912637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hand dryers sell you on how/ hygienic they are, if you/ usually don't need to touch them.
Options :



1. # Hand dryers sell you on how

2. % hygienic they are, for you

3. % usually don't need to touch them.
4. % No Error

Question Number : 62 Question Id : 60092912637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hand dryers sell you on how/ hygienic they are, if you/ usually don't need to touch them.
Options :

1. ¥ Hand dryers sell you on how

2. % hygienic they are, for you

3. % ysually don't need to touch them.

4. % No Error

Question Number : 63 Question Id : 60092912638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

No sooner (had I started mowing the lawn when) it started raining.
Options :

1. % had I started mowing the lawn than

2. # did I started mowing the lawn when

3. % did I start mowing the lawn that

4. # No correction required

Question Number : 63 Question Id : 60092912638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

No sooner (had I started mowing the lawn when) it started raining.
Options :

1. % had I started mowing the lawn than

2. # did I started mowing the lawn when

3. % did I start mowing the lawn that

4. ® No correction required

Question Number : 64 Question Id : 60092912639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Major sea ports at Larne and Belfast carry passengers and freight (across the Great Britain and Northern Ireland).
Options :

1. ® across Great Britain and the Northern Ireland

2. ¥ between Great Britain and Northern Ireland

3. # across the Great Britain and the Northern Ireland

4. ® No correction required

Question Number : 64 Question Id : 60092912639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Major sea ports at Larne and Belfast carry passengers and freight (across the Great Britain and Northern Ireland).
Options :

1. #® across Great Britain and the Northern Ireland

2. ¥ between Great Britain and Northern Ireland



3. # across the Great Britain and the Northern Ireland

4. # No correction required

Question Number : 65 Question Id : 60092912640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

What he required of us was that we avoided or muddled argument.

Options :

1. # atrocious
2. % tenacious
3. # audacious

4. ¥ specious

Question Number : 65 Question Id : 60092912640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

What he required of us was that we avoided or muddled argument.

Options :

1. # atrocious
2. # tenacious
3. # audacious

4. ¥ specious

Question Number : 66 Question Id : 60092912641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

I kind of self-edit that out of the history, but they did for quite a while.



Options :

1. ¥ vacillate

2. # articulate
3. % assimilate

4. # capitulate

Question Number : 66 Question Id : 60092912641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

I kind of self-edit that out of the history, but they did for quite a while.
Options :

1. ¥ vacillate

2. # articulate

3. % assimilate

4. # capitulate

Question Number : 67 Question Id : 60092912642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Instead, they constituted a

P. and profoundly consequential
Q. a complex pattern of

R. “global ecumene,” involving
S. intermittent but numerous

contacts.



Options :

1. # RPSQ
2. ¥ RQSP
3. % RQPS
4. ¥ RSPQ

Question Number : 67 Question Id : 60092912642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Instead, they constituted a

P. and profoundly consequential
Q. a complex pattern of

R. “global ecumene,” involving
S. intermittent but numerous

contacts.
Options :
1. # RPSQ
2. ¥ RQSP
3. % RQPS
4. ¥ RSPQ

Question Number : 68 Question Id : 60092912643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

occlude



Options :

1. # abstain
2. # disdain
3. % facilitate

4. % ineffective

Question Number : 68 Question Id : 60092912643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below:

occlude
Options :

1. # abstain
2. # disdain
3. ¥ facilitate

4. % ineffective

Question Number : 69 Question Id : 60092912644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below:

malign
Options :

1. ¥ besmirch
2. # benefit
3. % approve

4. % commend

Question Number : 69 Question Id : 60092912644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below:

malign
Options :

1. ¥ besmirch
2. % benefit
3. % approve

4. % commend

Question Number : 70 Question Id : 60092912645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ sedulous

2. # sedalous

3. % sedalos

4. % sedulos

Question Number : 70 Question Id : 60092912645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ sedulous

2. % sedalous

3. % sedalos

4. % sedulos

Question Number : 71 Question Id : 60092912646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. % dogma

2. ¥ ostentanious

3. # facetious

4. % hierarchical

Question Number : 71 Question Id : 60092912646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. # dogma

2. ¥ ostentanious

3. % facetious

4. % hierarchical

Question Number : 72 Question Id : 60092912647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom:

A house divided against itself cannot stand

Options :

1. # To be enraged and show it.

2. % Avoiding the main topic, not speaking directly about the issue

3. % Everyone involved must unify and function together or it will not work out.

4. % Policy of speeding up decisions

Question Number : 72 Question Id : 60092912647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom:

A house divided against itself cannot stand

Options :

1. # To be enraged and show it.

2. # Avoiding the main topic, not speaking directly about the issue

3. ¥ Everyone involved must unify and function together or it will not work out.

4. # Policy of speeding up decisions

Question Number : 73 Question Id : 60092912648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning:

This idiom can mean living material of which people are made of, or it can refer to human nature
Options :

1. # Fools' Gold

2. # Against the clock

3. # Beat a dead horse

4. ¥ Flesh and blood

Question Number : 73 Question Id : 60092912648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning:

This idiom can mean living material of which people are made of, or it can refer to human nature
Options :

1. ® Fools' Gold

2. % Against the clock

3. ® Beat a dead horse

4. ¥ Flesh and blood



Question Number : 74 Question Id : 60092912649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

Certain to happen
Options :

1. % palimony
2. % hegemony
3. ¥ inevitable

4. # parlance

Question Number : 74 Question Id : 60092912649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

Certain to happen
Options :

1. # palimony
2. % hegemony
3. ¥ inevitable

4. # parlance

Question Number : 75 Question Id : 60092912650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

Incapable of making mistakes or being wrong
Options :
1. # scullery

2. # scapegoat



3. # reticent
4. « infallible

Question Number : 75 Question Id : 60092912650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

Incapable of making mistakes or being wrong
Options :

1. # scullery

2. % scapegoat

3. * reticent

4.+ infallible

Sub-Section Number : 2
Sub-Section Id : 600929818
Question Shuffling Allowed : Yes

Question Id : 60092912651 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives:

Gorillas are peaceful, gentle, sociable, and mainly plant-eating creatures. They live in family groups. A typical group is led by the biggest and
strongest grown-up male gorilla. A silverback's group usually includes one or two sub-adult males and a few females and their young. Their food
includes a variety of plants along with a few kinds of insects and worms. At night the animals make a nest to sleep in. Many lightweight gorillas
nest in trees. The heavier ones may nest in grasses on the ground. Babies sleep with their mothers at night. Life for mountain gorillas is not
always peaceful. They are found in Africa and are endangered and threatened by the civil wars in the smaller parts of Africa. Hunters kill them
for food. Their forests are cut down for farmland, fuel, and housing. But many scientists, forest rangers and other concerned people are working
hard to protect mountain gorillas and their habitats.

Sub questions

Question Number : 76 Question Id : 60092912652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ Mountain gorillas have become endangered due to changing temperatures in Africa.
2. # Gorillas are social creatures.

3. # The biggest and grown-up gorilla leads the group.

4. % Gorilla's diet mostly include of plants and insects and worms.

Question Number : 77 Question Id : 60092912653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According t the passage, what has caused mountain gorillas to become endangered?
Options :

1. # Diseases

2. % Natural Disasters

3. # Climatic Conditions

4. ¥ Human Activities

Question Number : 78 Question Id : 60092912654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are mountain gorilla's found?
Options :

1. ¥ Africa

2. % North America

3. % South America

4. % Asia

Question Number : 79 Question Id : 60092912655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many sub-adult males does a group of silverback gorillas include?
Options :



l.* 2to4
2.¥ 1t02
3. % 4t06
4. % 6to 8

Question Number : 80 Question Id : 60092912656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an attribute used to describe Gorillas in the passage?
Options :

1. # Peaceful

2. % Carnivorous

3. * Gentle

4. * Sociable

Question Id : 60092912651 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives:

Gorillas are peaceful, gentle, sociable, and mainly plant-eating creatures. They live in family groups. A typical group is led by the biggest and
strongest grown-up male gorilla. A silverback's group usually includes one or two sub-adult males and a few females and their young. Their food
includes a variety of plants along with a few kinds of insects and worms. At night the animals make a nest to sleep in. Many lightweight gorillas
nest in trees. The heavier ones may nest in grasses on the ground. Babies sleep with their mothers at night. Life for mountain gorillas is not
always peaceful. They are found in Africa and are endangered and threatened by the civil wars in the smaller parts of Africa. Hunters kill them
for food. Their forests are cut down for farmland, fuel, and housing. But many scientists, forest rangers and other concerned people are working
hard to protect mountain gorillas and their habitats.

Sub questions

Question Number : 76 Question Id : 60092912652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :



1. ¥ Mountain gorillas have become endangered due to changing temperatures in Africa.
2. % Gorillas are social creatures.
3. ® The biggest and grown-up gorilla leads the group.

4. ® Gorilla's diet mostly include of plants and insects and worms.

Question Number : 77 Question Id : 60092912653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According t the passage, what has caused mountain gorillas to become endangered?
Options :

1. #® Diseases

2. % Natural Disasters

3. # Climatic Conditions

4. % Human Activities

Question Number : 78 Question Id : 60092912654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are mountain gorilla's found?
Options :

1. ¥ Africa

2. ® North America

3. % South America

4. ® Asia

Question Number : 79 Question Id : 60092912655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many sub-adult males does a group of silverback gorillas include?
Options :

1. % 2t04

2.% 1t02



3. % 4t06
4. % 6to 8

Question Number : 80 Question Id : 60092912656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an attribute used to describe Gorillas in the passage?

Options :

1. # Peaceful

2. % Carnivorous
3. * Gentle

4. * Sociable

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

General Hindi

5
600929529
0

0

No

No

0

20

No

General Hindi

600929684
1

Online
Mandatory
16



Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929819
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 60092912657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefed gy d IR fowedl § 9 39 fawed &1 997 &1 o fqU U IfY fawse &1 9 &1 9et fdwea g

Y + 3 + 3
Options :

1. ¢ JH4dY
2. % Hay

3. % gdqdyg
4. % JHAY

Question Number : 81 Question Id : 60092912657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy R fadwedl # 9,39 fdwed &1 9897 &3 o fou ¢ IfY fawse &1 9fe &1 98! famea 81

gH + 3]+ 31y
Options :

1. ¥ {9y
2. % gag

3. % gdldyg
4, % JHAY

Question Number : 82 Question Id : 60092912658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafiad vy & TR el § ¥, 39 fadh ey &1 o= B3 ol fou U Tsg & Ut i foe &1 fdbeu 1)

UANTHA
Options :

1. #® U +THA
2. % gfd + T
3. % Jfd +3FTHT
4. ¢ gfd + MTHA

Question Number : 82 Question Id : 60092912658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfed uy d IR foweal § 9 39 fawen o1 9g7 &3 S AU TN Yeg & ot Y fowde &1 faseq g1

UANTHA
Options :

1. #* U+ THA
2. % gfd + T
3. % i +3TH
4. ¥ 9Id + 3MTHA

Question Number : 83 Question Id : 60092912659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H,9R faswedl 3 1,39 fdded &1 99 & o1l [g7] THR &1 Ta! [adhed ]
3[aHt

Options :
1. % 33 AN BT AA S N
2. % 3TG 3R 3T




3. ¥ 31 3 BT I
4. % T g S TS TG

Question Number : 83 Question Id : 60092912659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, 9R fasedl 4 9,39 fdded &1 98+ I SNt T3] T &1 ol fdbed 81|
3!

Options :

1. % 3T 3T &1 AT g o
2. % 313 3R M

3. ¢ 313 I BT 9Yg

4. % 3 H g S TS T

Question Number : 84 Question Id : 60092912660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad Uy O aR fasedl & 4,39 fdeed &1 98- & il TGATdraed fa=Ivu &1 ¥l fdded 8|
Options :

1. ¢ il & 9gd- ¥ % 9|

2. ® TR T HY I ST

3. % T P ITQT 98 GRIa g

4. % T goh! UTaT T UNiE g

Question Number : 84 Question Id : 60092912660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy aR [ddedl 7 4,39 f[dmed &1 999 33 Sl SeIarad ORI &1 ! fddwed 8l
Options :

1. ¢ §id 4 9gd- 9 B |




2. % R HHH I ST

3. % T T TSl 9§ G 2 |
4. % T goh! UIdT T U9iE g |

Question Number : 85 Question Id : 60092912661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedl § ¥ 39 fasey &1 w09 &9 St fAsiars 9d41H &1 I8! fdswe )|
Options :

. % AIRTWG

2. % gl & BT ol gars]

3. % foe! a1dl uT O

4. ¥ 39 319 g 91d B q|

Question Number : 85 Question Id : 60092912661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed Uy # aR fadedl 9 39 fdsed &1 99 &< ot Feiarae a1 &1 e fddbed &l
Options :

1. % FARTW G

2. % g1 Gl B I garsfl|

3. % e A1l S9! U9

4. I 31U G 91 HA &l

Question Number : 86 Question Id : 60092912662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o aR fadwedl 0 9,39 fadhed &1 99 3 Sl faU U Xsg FH &1 Hot 31 o1 95! fadhed 5|

OIRT- SR
Options :




1. ¢ §erdl [di-dh
2. % QT D
3. % qYT SIS

4. % ggIUT SNe

Question Number : 86 Question Id : 60092912662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy O aR fowed & O34 fdeed &1 99+ &< il faU T Xsa g™ &1 Fal 31 &1 9g! fdwed 71|

SRT- ORI
Options :

1. ¢ g di-dh
2. % W] dHd
3. % qUT SIS

4. % ggIUT SIS

Question Number : 87 Question Id : 60092912663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 3 IR foeddl 7 ¥ 39 fawey &1 9g &3 oY AT 17U araaian & fore ue eg &1 98! faswed 3|
ST 3Tl & ITH AT 8 -

Options :

1. % aRHY
2. % dcy
3. ¥ WU
4. % Y&

Question Number : 87 Question Id : 60092912663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferiad Uy & IR fabedi & ¥ 39 9 ey &1 == &1 ot 3T U 1o & ol U Wsg b1 I fah e 3|
S 3i1Ra & G AT 8 -

Options :

1. % aRHY
2. % dcyy
3. ¥ WU
4, % Y&

Question Number : 88 Question Id : 60092912664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O IR fowedl O O, 39 Tg! [dded ol g4 &1 ol Rad RiF o i Sugdd Weg &1 gl fddbed 3|
WRWRA  AfTss e s g

Options :

1. # gdd
2. % Hdd
3. % R
4, ¥ WYY

Question Number : 88 Question Id : 60092912664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9, 9R fomeddl 4 9,39 gl fdded &1 9g 3 ol Rad RIM & [T 3ugdd Xsq &1 gl [ddhed gl |
WY IRRY  Afeyss Ao srarg|

Options :

1. * gdd
2. % {dd
3. % fRu
4, ¢ WYY



Question Number : 89 Question Id : 60092912665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad gy d IR fowedl § 9 39 faded &1 997 &% S QU U ardg & WS &1 Ual f[aded 8]
RIS &I g & ifaRkad 39 3@t gar Mt s dl|

Options :

1. % oy are

2. ¢ WA dIH]

3. % JYId aI

4. % YHdHD dI]

Question Number : 89 Question Id : 60092912665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 7 IR ol § ¥, 39 faweu &1 999 &3 O faU 7T a1 & e &1 ol [ddbed 8|
RIS B e & SHfaRad 39+ 39H! gl U HR |

Options :

1. % fogy arery

2. % ARA dlH

3. % ggod die

4, % YHIdHD dIx]

Question Number : 90 Question Id : 60092912666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad gy H IR fomedl § 9 39 fowed &1 997 &1 Sl QU TN a1ag & U8 & NG &1 el [ddhed 8|
a8 3 % 1% WA g1 G|

Options :



1. ¥ qofdrede
2. % IRIIAD
3. % Ifaede
4. % Fgdride

Question Number : 90 Question Id : 60092912666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A IR foweal 7 9 39 fad ey &1 9g7 &3 S feT U a1e & U8l & Y &1 Jg! fased 8l |

98 3§ d% B! W gHI 8 |
Options :

1. ¢ QUidTRas®

2. % RS

3. % TTfde

4. % fAgaridd

Question Number : 91 Question Id : 60092912667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9,9R fawedl 4 9,39 fddwed &1 9g & ol QT T8 a1 & i & Ua &1 gl [dded 3|
Fafd HgIed, 3Hfd o1 915 |

Options :

1. % RS
2. # Fopdrd

3. % IIdNTD
4. ¢ JTHD

Question Number : 91 Question Id : 60092912667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Uy & aR foded! & T ,39 fddwed &1 999 &2 ol faU T8 a1 o i & U &1 et fadhed g
PaUld HgIGY, Al S a1g |

Options :

1. % RS
2. # Fopdrd

3. % SIFdNTD
4. ¢ JTHD

Question Number : 92 Question Id : 60092912668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us # aR fadbedl § 9,39 fdhed &1 99 1 Sl ol [aR1H oI ot a1 DT [dbed g
Options :

1. ¢ UGl Phs HINTE UgTs STl 8; oI9-3Rsl, aftre, Aerares anf|

2. % UGl s HIVIE UQTs STl §; S-Sl aftre Aames onfe |

3. % gl s HIVTE UGS SIIdl & oi-3isht, affrd, Aaarad sife |

4. % UG P HINE UGTS S &; SIY-3fel, e, Herrer 3fife

Question Number : 92 Question Id : 60092912668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9,9R fomedl 4 9,39 fdded &1 9a & ol Ug! faR g gad ardd &1 fadbed |
Options :

1. ¢ gl Phs VT UQTS ST ©; Sra-33slt, affra, Herarey snfe |

2. % gl s HINTE UGTS STl o; oid-3Reh dffrd Herarerd 3fe |

3. % gl s VTG UGS STl & oi9-3i3sh, affd, Haaray sife |

4. % UGl PHs HINTE UGTs STl 8; SI-3R¥sh, aftre, Aerares anfe

Question Number : 93 Question Id : 60092912669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy & IR fowedl § O ,39 fdded &1 999 &< 11 QU U didbiiad &1 vl o1 ara faded 7|

GRICIERRVE]
Options :

1. % S§ IS BIC Y 3YH Ul 8T

2. ¢ RIS ATCH BT HTR-TDBR D5 o] DRl

3. % OF 3{HR 3MeH TR 3MSH! BT 3R YhR IR g |
4. % R DB DB Hd 3BT gl gl dbdl

Question Number : 93 Question Id : 60092912669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy 7 IR ol °§ ¥, 39 faweu &1 Tu 3 S feu 71U Aipifa o1 el 3if arar fasea 8|
EEICISER G

Options :

1. % T9 931 BIC W 3P Tl gl

2. ¥ TR 3MGH! BT HTRX-TDR PIs Aal Bl

3. % §¢ 3R e TG MTeH! BT 3MMeR PR BT 5|
4, % R DB DI 3BT gl ol Ybdl

Question Number : 94 Question Id : 60092912670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy & IR fowedl § O ,39 fddwed &1 999 &< 11 QU U didbiiad &1 vl o1 ara faded 7|

IR &Y WS BT TR

Options :

1. % g BT 7Ty HAT

2. % G O 3 foh it T Y g
3. ¢ SFT R J 5t 1 g1 BT




4. % PH3 U HIP UM g1 BT ATeh BT

Question Number : 94 Question Id : 60092912670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 7 IR il & ¥, 39 fah ey &1 Tu B3 S feu 71U Aipifar o1 gl i arar fasea 8|

R D1 WS BT TR

Options :

1. % oq2f o1 Ty BT |

2. % gl % ¥ foh gl &I 14 81T

3. ¢ SF R ¥ foddt &1 g1 8T

4. % P UMY HP UlaA 14 BT AICH HRAT

Question Number : 95 Question Id : 60092912671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad oy & TR fawe 7 ¥ 39 fawe &1 7 o2 ot fou 7T ek o1 gt 31 aran fasey 8
& H Ulg deh-1-

Options :

1. % 3ff B HY TR ISTHR 3~ YWD R & ol THIH o ST

2. % 99 Yg Wi &

3. % 9 YR HAT

4. ¥ GG T SoR g1 ST

Question Number : 95 Question Id : 60092912671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy ¥ aR fowedl & 39 fdswed &1 99+ &3 ol faT 78 GeTar &1 9e! 31 ara fadwed gl |

&s H Uld dehl-




Options :

1. % 3ff B HY TR ISTHR 3 B R & folg THIH o ST
2. % 99 Y @i &

3. % 9 YR HAT

4. ¥ TG 1 STOR BT ST

Sub-Section Number : 2
Sub-Section Id : 600929820
Question Shuffling Allowed : Yes

Question Id : 60092912672 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

T fo 7T TerTR & §TE 5 Uy U T B39 TR S eAYdes U SR IR fAwed! § U Udd UY T Jarad IR g

9 B! & 7 Ughra 81t § Ueb o T8 b T AR 0N B s I, 1 a4 ¢ 3TR THRT SHTEX I 3R G I §H TR U0 &Y, GART 3H1G

HEYH B, I ofia H 50 $B At X &- LT UG < 3M10% 9RT Y $T 1 e el = Tl o & U=ian w1 a1 i St werg
rrrrﬁamn%a‘r 3T fod Hu1 fad Iod1 82 SW Y P ] &mﬁmlﬁ&mﬁ%ﬁ@?wﬂmﬁ@ﬁé MR A I8
TURI-3MUSD | A URIT &1, AT B, WE BT YT ¢ afe &rrtraﬁ HHIIUId)dIL;]\ddO@[HdOFﬁ&WLbIH 3P §&d o e Ugd SIai
GIRI DT YIS B S1h-3Tds U], ID! B D1, I T T 3R T IdER 1 Ja! TSRS & U J AR
STta H e g dT & gramal @lmﬂﬁ@waﬂwﬁ%sﬂﬁsﬂﬁmwwﬁaﬁ%

Sub questions

Question Number : 96 Question Id : 60092912673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE & SIUR A BT T T 9§ e R 31 52
Options :

1. ® 9 I8 GURI B! Heg HRal 8

2. % I g G| B H% AT ARG Hd &

3. ¥ d GER AN IS TR R 7, T I I AT §
4. % 9 §H 30 St | fhl o1 3141 78y o3 &

Question Number : 97 Question Id : 60092912674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

52 9§ 51 e i b <t T T BT 22
Options :

1. % 3w WGV HISH &1

2. % 37YTE YUl ol

3. % QIR &l UIIgd B Bl

4. ¥ Hg T4 N8 ol

Question Number : 98 Question Id : 60092912675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGRS RIS &1 T 37 87

Options :

1. % GIRI I UGS ] YHSDR I Uldhd HIGR B

2. % U SAIHAT U4 B! & AR BRI HAT

3. ¢ QIR B YIGISH B THGHR TATs 3R HE BT AR DAl
4. % GIRI DI U T U TR ST

Question Number : 99 Question Id : 60092912676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTH VP - T YT HT A eg 87
Options :

1. ¢ URdl

2. % Hul

3. ® AUH

4. % 3MER

Question Number : 100 Question Id : 60092912677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S TG DI Plg SUYdd YD -
Options :

1. % T &I d18

2. T4 &1 yghar

3. % OHd {9

4. % Sfiq DI MTIGDH

Question Id : 60092912672 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

9 fou TU TR & 91e 5 U AU TN 139 TR Bl Y4 Ue 3R IR fadwed § ¥ Ud® U BT garad SR g |

A4 &1 &1 I ugfai 8t 8 1 T dl 8 fob @1 §AR 0N 1 % B, 89 al8 & 3R GHRT 3MTER B 3R gOR d 4 W UH $Y, §HRT 341G
HEYH B, 370 Slla § gH O Hew™ 10 5- UHT STHT B 3T o1 A S &1 afe Tl 1 I et O U=l &1 a1 b1s SH1uh! Helg
AT ST 8 ol 3T & 1 R I3d1 82 SR Y D13 a1 SHEH! e Hi SiTeAfayrh 3R sierdigy i -1 fwrs ¢, iRk A a8
TURI- 3| A TR &1, T B, e BT YW1 71 Al 31T I, YHIOhargde o G dl 310 R 39P & & e Ugd S|
IRl BT UGS DI S1h-3Th THII, STD! B% BT, 3% 1Y JATs AR HE BT TAER BT Jg! HAeRG A ¢ | ST I JrHIford
Sia B AT & GRaTs! |- &I ol 14 A ¢ | ST SHRT 30 @-Mifd dadi g

Sub questions

Question Number : 96 Question Id : 60092912673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3I5a & TR HIS b1 HT Yol ¥ B R I3 82
Options :

1. % 5q 98 QIR & Aeg HRal g

2. % Jq §H QI B H% I ARTD I §

3. ¥ 19 GER TNT ST URIGT 6 &, A1 3P I AT &
4. % SIq gH 3O St H foheit BT 3141 Ay Hvd &

Question Number : 97 Question Id : 60092912674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS Q 5o et i by <t BT 1T T 82
Options :

1. % 3w WGV HISH &1

2. % 3{YTE Uil Bl

3. % QIR &l UIIgd B Bl

4. 48 Ud UidTg &1

Question Number : 98 Question Id : 60092912675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAGRG A BT T 3% 52

Options :

1. % QIR ] UGN ! THIDR I Uldhd AdeR BT

2. % U AT U4 B! & AR BRI HAT

3. ¢ GIRI B HIGISH Dl THIAIR TATs R WG BT FIGR HRAl
4. % GIR] ) YU T YT IR ST

Question Number : 99 Question Id : 60092912676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTH q B - T 3HTa BT fId Teg 82
Options :

1. « YRl

2. % HHt

3. ® Udh

4. % 3IgR

Question Number : 100 Question Id : 60092912677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3Jw5a BT Bls IUYH ¥ -
Options :




3. % OFg 79
4. ® Siaq B ATaRIHd]

Disciplinel
Group Number : 6
Group Id : 600929530
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 600929685
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929821
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092912678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T erecEy Fgiifsraa: Ty w9 fRA?

Options :
| ® ded1

T

2. # ~

3 ®% dedl

4 v TH

Question Number : 101 Question Id : 60092912678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ereeEy Fgiifasre: Ty w9 fRA?

Options :
1% ded

T

2. # ~

3 % ged1

4w T

Question Number : 102 Question Id : 60092912679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TE AT TGS THaEaET € w9 FA?

Options :

1. %

e
#

3 %% 9

b
#

Question Number : 102 Question Id : 60092912679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TE AT TGS THaEaET € w9 FA?

Options :

1. %

e
#

3 %% 9



Question Number : 103 Question Id : 60092912680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teaw wsewTAE & 75 FIREl 7 s

Options :

4w G

Question Number : 103 Question Id : 60092912680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Toeaq eeawaAEma & & Fafen 7 safa?

Options :




Question Number : 104 Question Id : 60092912681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FATAA 9¢ Tawfera: &2

Options :

I_JF%T-?F
2. % j

a—%riﬁ

3. %

4 % FAAT

Question Number : 104 Question Id : 60092912681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAEAA Ig qefera: 12

Options :

L;/F‘?F-ﬂ'
2. % j

et

3. %

4 % FAAT



Question Number : 105 Question Id : 60092912682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘HTAG, A ET FY AlEd-
Options :

| AR

b w Al

4. H:

Question Number : 105 Question Id : 60092912682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘STAC, YEEET F9 ANES-
Options :

| % H&



Question Number : 106 Question Id : 60092912683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i gﬁ'wafrmﬁ“?

Options :

AT, agqt;uﬁ
1. %
5 TUA, THaEe

s % TEOHT, Thade

4.wqﬁ?ﬁw,a§a€m

Question Number : 106 Question Id : 60092912683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 3fawT F aafa

Options :

=tip=i agdt;;-i

1. =

, v FUAT, Thaes

s« TEIHAT, Thadd

4.waﬁ?ﬁma§ﬁm



Question Number : 107 Question Id : 60092912684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘A T TSI I8 Egd:{% & F9a?

Options :

, o SEAH

, » STEEH

Question Number : 107 Question Id : 60092912684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘IS e T TSSITSHF: agqq{-‘r & w9H?

Options :
| % HITdATATH

5 % I

, v HIEAH

, w STEESH



Question Number : 108 Question Id : 60092912685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T arar i AemATeTs w9 safar
Options :

| % TETE

7 o ey
3 ® gfersafd
4. ® q=ga

Question Number : 108 Question Id : 60092912685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘I g gie H‘Lqﬁgﬁﬁmqﬂﬁ &F &7 saa?
Options :

| % TEH

2.\-/':1'&71%
 x SresTfE
4,@4':!@‘@‘



Question Number : 109 Question Id : 60092912686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘HAT ST & THN:?

Options :
1% %
2. % %
3 v T
4 0 WY

Question Number : 109 Question Id : 60092912686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘HAT ST & THN:?

Options :
1% %
2. % %
3 v T
4 0 WY



Question Number : 110 Question Id : 60092912687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHITT FoAEA ohaTae & 9rg:?
Options :

v 3K
) u 3H
3 % HoH

Hd

4, % JI%

Question Number : 110 Question Id : 60092912687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HeEaf ScateAs fohame &: urg:?
Options :

v

) w 3H
HcH

3. %

4. % 3d

Question Number : 111 Question Id : 60092912688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HE uTEn: deaEr FerAgeieas & §9 dafa?
Options :

| ox A&
) w 3
3. % UG

4 v T

Question Number : 111 Question Id : 60092912688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HE AT AR FEIAGRFI & & safa?
Options :

| x HE

2. % I8

4 v T

Question Number : 112 Question Id : 60092912689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Actdfed 3ia HEF orar T2

Options :

Question Number : 112 Question Id : 60092912689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘etdfed gfa FTT orar T2

Options :

| v 9%

Question Number : 113 Question Id : 60092912690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T orar EECEIR HEOATEY Tsha=id & w72

Options :

| v =T

Question Number : 113 Question Id : 60092912690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AT TEAPR ATATE Teha=rad & T

Options :

Question Number : 114 Question Id : 60092912691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g & F fFeafar
Options :

- gma’r:a%

Question Number : 114 Question Id : 60092912691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

' . -
‘ ~
gl & FA et
Options :

g oran 9

%3



Question Number : 115 Question Id : 60092912692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T T FT IqA?
Options :

| w T, SRR

, o T, Ao

, x O, TR

, w O, TSR

Question Number : 115 Question Id : 60092912692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T FF FT IoTA?
Options :

, » o1, afafoseen

4 x O, SRR



Question Number : 116 Question Id : 60092912693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAATY 3 98 FET HEIET Fd 9SIA?

Options :
1. ®% %

) # 9%
3 ® %0

4. ¢ SR

Question Number : 116 Question Id : 60092912693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TEeata 3 Ug FEAT HEAE: Fd $gSad?

Options :
1 %

) % S8
3 % 80

4.9 SR



Question Number : 117 Question Id : 60092912694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘3" TEAT WU FEpd YgFd IGH HiEd-
Options :

| = FBmeafa

, « T

s FEAERId

s

4_@5@‘%%

Question Number : 117 Question Id : 60092912694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘3" TEAT WU FEpd YgFd IGH HiEd-

Options :




Question Number : 118 Question Id : 60092912695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘T s 98 Fram: e Susa?

Options :

1% 3
2. 39
3 ® 300
4 % 3000

Question Number : 118 Question Id : 60092912695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘PRI = 9 FTan: T&OET: SSH?

.

Options :
1% 3

2. 30
3 % EDG

4 % 3000

Question Number : 119 Question Id : 60092912696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TOTHAT F83...) 507 ‘Head 3fa 96T & 3?
Options :
| v F

). % TChH:
3 % EHFET:

4 % G-

Question Number : 119 Question Id : 60092912696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUTHAET Fed... $cIF ‘Head 3T 980 & HL?
Options :

| v T

). % HashH:
s x YSCHEES:

4 % 94

Question Number : 120 Question Id : 60092912697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fograe TEe adraaeat e afeeat?




Options :

| w TUH

)« HIF
; » RIEEEay
4_¢3maj'gﬁ'qﬁlﬁ

Question Number : 120 Question Id : 60092912697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FioErae gy TaarRal e afzgal?
Options :

| % TN

Discipline2
Group Number : 7
Group Id : 600929531



Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 121 Question Id : 60092912698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘YUIEITEHN AT ScOF & HEd ‘GUrE:’?

Options :
1w 3

) w H:

Discipline2

600929686
1

Online
Mandatory
20

20

20

Yes

1
600929822
Yes



Question Number : 121 Question Id : 60092912698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘UGS OI AT ST & HEd ‘GUEy’?

Options :
1 % 3

) u IH:

Question Number : 122 Question Id : 60092912699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘AU IFHAHOT GIEAAET H A 3T HW 9T F ghua: A2
Options :

1w el

JE

2. # e



4 % STEHTR:

Question Number : 122 Question Id : 60092912699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘AUt qqﬂﬁrﬁtﬁ IR H afa: HT H 9 & Hiwd: HEA?

Options :

1 % foel:

I

2. # the

3, v FICEE:

4. % areHAR:

Question Number : 123 Question Id : 60092912700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TgEATAR gFs fyfE ewfRest ar v geema?
Options :

1.\-,,/3'1?7'[1

5 % el



3_#31_5&

4.@:13'@%

Question Number : 123 Question Id : 60092912700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TgEAgan gF Ayl ewfRest ar v geega?

Options :

| v 3t
) % STof
3.«%431_&%

4, EFUT

Question Number : 124 Question Id : 60092912701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEHUTHcHE e AGed @ T8 e 37 §iFa: FF 9reaa?

Options :

| w Teargeer

) % ST



Question Number : 124 Question Id : 60092912701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WETUTHcESCHIGed T8 T8 e 37 gl $F 9reaa?

Options :

| » fEdmeer

3.4 2 o

o6 TR

Question Number : 125 Question Id : 60092912702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tgaegan feim: fasas afer agonfa w72
Options :

o e



, o TSRS qTIH

3. % TIETHH

4 % GETEH

Question Number : 125 Question Id : 60092912702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR et e afer sponfy w92
Options :

N

ngwﬂq

4w SR

Question Number : 126 Question Id : 60092912703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y & RaararaTgsoTEIoE; S frar 37 ?

Options :
| # QRN




) w IH:

3 % 3o

4. v T

Question Number : 126 Question Id : 60092912703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN & RAATATAIEEToEIuE, Tl T 37 ?

Options :
1 ® CEIEEIE

7 ® ITH:

3 ® HA:

4, v T

Question Number : 127 Question Id : 60092912704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TEFAEEET 0 avd Had e Fear far?

Options :

l.g/ﬁﬁﬁm



7w HINET
3. % HaA?

4 % SIRATT

Question Number : 127 Question Id : 60092912704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS T favd HaH ‘FEcd S Far?

Options :

1. ¢ CTIRE
o % HINET
3. % HAZ

4 % SIATT

Question Number : 128 Question Id : 60092912705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIIIET FUATCYT TIF Bod: (A7

Options :

| % 3TSAT:

) w SUEUH



3w TTEL

4 % THedTdERH

Question Number : 128 Question Id : 60092912705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FUATEH TgFd O (h?
Options :

| % SIS
2. % TAEUR

-

v FTEN

4 » FHedTdeRH

Question Number : 129 Question Id : 60092912706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TEI__.Ei'QiHalﬂhlc-LH-ﬁ HITAT=ROT & Jﬁﬁ“ Efgar?

Options :

| STeTeE:

7 ® @FI‘ITFH'&’F:



3 v TTEAIRAETE:
4 % TITHUTAT:

Question Number : 129 Question Id : 60092912706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIUATHETET FIAT=R0r FET T fafgar?
Options :

| % ST

, ®% BIOREDr

3 v TTEAIRALEIE:
4, n TTEEORI:

Question Number : 130 Question Id : 60092912707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEIFETEd & ‘HENaTaTHeE: Hidd:?
Options :

EEP=-rParE

1. ¢ X



Question Number : 130 Question Id : 60092912707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIIAFGHIEY F: FEATAACH: HAT:?

Options :

v STFEaHe
), % TERT:

3 % 13

4. % &

Question Number : 131 Question Id : 60092912708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYERIHEHEY & TIGEagRa aHa:?

Options :
] % G




4. ﬁﬁm:

Question Number : 131 Question Id : 60092912708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIEAHETRIE & FHGERERT dATHA:?

Options :
1 ® cRIA:

4, v FCETE:

Question Number : 132 Question Id : 60092912709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T A Eafte: asefea =2
Options :

l_umﬁ



Question Number : 132 Question Id : 60092912709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tgafe: frAd TEafte: wafea w2
Options :

l'wm
2.\-/g3ﬂ_&

Question Number : 133 Question Id : 60092912710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘HUES WIsTA.. HT RS 3 TeTT F ?

Options :

CICEE

1. = =



o % AT

3 # ©hleh:

4 AreRfEa:

Question Number : 133 Question Id : 60092912710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘HRSUEE HIsTA.. HT MRS §fa TeTT F HA?

Options :

CICRE

] % 3
o % AT

3 % ©hleh:

4 AreRfEa:

Question Number : 134 Question Id : 60092912711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fearaeen o Ffa: #Ea?
Options :

l_wmﬁgam



Question Number : 134 Question Id : 60092912711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedrcer: weg Ffa: #fEa?

Options :

| % STERIIOEaET
) @ ATV OSALY
, % CIARCIIUSIEd

, w FEARIEET

Question Number : 135 Question Id : 60092912712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedaeersn e v wEw wfa: AfEa?

Options :

| % STeHTR:




Question Number : 135 Question Id : 60092912712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedaeersn e v wEw wfa: AfEa?

Options :

1 % CIRZEDT

) % B

Question Number : 136 Question Id : 60092912713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘ar=n waw dfesw Afafaew garfe 7 39 o7 gy Afdsen aftam?

Options :

. aﬁmq?am

1



n ® F-ﬂ'ﬁﬁl?—lm

T@éﬂ@

3. %

Question Number : 136 Question Id : 60092912713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘I e S AfAfEeET e 7 AT FE geury Afdsey avaa?

Options :

. aﬁmqﬂ'amr

1

) % SANRIdHET

Tgéﬂnrar

3. %

Question Number : 137 Question Id : 60092912714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eI 5T FAY FGA URATRG 5T 3 FF WoTA?

Options :



0 # #lﬁﬂmﬂ‘_‘
3 % THTIUT
SETIRIEER)

Question Number : 137 Question Id : 60092912714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T[T 3T FAY HIAT THARRG $9 3T FF 9rogd?

Options :

| v e

) % AT
3 % W
SETIRIEER)

4. %

Question Number : 138 Question Id : 60092912715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rargensga R = FeT AT’

Options :




o

4. % 3

Question Number : 138 Question Id : 60092912715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mllgﬂli ‘OTAT el HTATTA?
Options :

1_%534??1?{

) v T
3 % UeleT

o

4.% 3

Question Number : 139 Question Id : 60092912716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramerer g7 e sfovead sfagaager & e & =2

Options :




o JERMEECE

2. % hslle .

Lo
Hrﬂdr:ﬂlﬂq}i

, » TOETAEEH

Question Number : 139 Question Id : 60092912716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEaraceT ‘g3 T gfaucad 3TE|=|=M|=3~H|~E T faeyr & =2

Options :

| TERTHEEC

F f
5 x oelTHINTECH

- Aeddedraed

, » THETEEE

Question Number : 140 Question Id : 60092912717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :

I RLECIEE
3. % e
R

Question Number : 140 Question Id : 60092912717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

B RLEGIEE

2. % 2

3, % Hled:

. o
ehienloien]| L
4. = %

Discipline3
Group Number : 8
Group Id : 600929532



Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 141 Question Id : 60092912718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬂ?{%ﬁﬂ: ATH A HEAd I sfeaf@a: Iaa?

Options :

1. ® AT
5 o TEdreer

Discipline3

600929687
1

Online
Mandatory
20

20

20

Yes

1
600929823
Yes



5 % HOed
Y eReTEIG Y

4, %

Question Number : 141 Question Id : 60092912718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e ATH O FHIEAd Te Soatad: Fad?

Options :

| % SAlaerds
, o feE

3, x THqd
Y FATHIG

4. %

Question Number : 142 Question Id : 60092912719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

| v e

. HISEH

2. s



4. % A

Question Number : 142 Question Id : 60092912719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

| v T

. AISaH

2. s

3 % A
4. % TR

Question Number : 143 Question Id : 60092912720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el Eled: HesT: qfEy: WAE: Hafd?
Options :

| % g

> ® ST



3. v G
4, % TOT

Question Number : 143 Question Id : 60092912720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fe et FeIsT: qYfE: A safa?
Options :

| % g
0. % #STeAeT
3. v G
4. % RIOT

Question Number : 144 Question Id : 60092912721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FT T TN BT THITTT?
Options :

1. = gt

) v TEHT:



3. % :
4. ® H%rr:

Question Number : 144 Question Id : 60092912721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HT Te] eIy Gl THITeT?

Options :

1. = AR

5 o TEA

3. % :
4. % ﬂ%rr:

Question Number : 145 Question Id : 60092912722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YFATATCY HATTHE AT AT PO THIA TSI TR sfataerwot: & wmfhaa?

Options :

| v TlaagsE T



Question Number : 145 Question Id : 60092912722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFATHIIEE HHTTH T cATAF O IATGITHTAgH sfafasivet: & wfas?

Options :

| v TlaagsE g

, « CEdfafATTucEn
s« AvafSTEEEATE:
4 % TETHEITT:

Question Number : 146 Question Id : 60092912723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘FITIUTTATILIAT T80T’ &F: HaTa?

Options :

| % USTIHAYF:



Question Number : 146 Question Id : 60092912723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘NITIUTTATILIAT 2IF0T:’ &: HaTa?

Options :

| % TS
) v CTEHIAS:
3 % GUCTESR:

4 % IR

Question Number : 147 Question Id : 60092912724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSR & (e & FTaAresT HTo[sad, FTaA?

Options :

CIrg

1.¥ 2



2 x EfoE
3 ® SICT
4. % Hﬁ?l‘t

Question Number : 147 Question Id : 60092912724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSR & (e & FTaAresT HTo[sad, FTaA?

Options :

CIrg

1.¥ 2

) % TS
3 ® Mt
4. ® ﬁ?ﬁ

Question Number : 148 Question Id : 60092912725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘FEEHTAAI AHETARH NFdaffT-uay 37 R[Rff T & 347
Options :
1. % 3l




VA ETICICEILE
3. % e

4 % HIRIR:

Question Number : 148 Question Id : 60092912725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘FEEHTAAT ATETHARH NFifaffueay 3 Ry v F #47
Options :
| % HEUF

). v FATEIERAT:
3 Hee:

4 % 3TRTS:

Question Number : 149 Question Id : 60092912726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATE: FAVTERET o 7 TReomfa?
Options :

|, TEREEH

, w HEHIOEATH



; x HICHATTEH

(i
v Idﬁﬂlngﬂfd Heod<oaH

Question Number : 149 Question Id : 60092912726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATE: HAYTERET o 7 IR
Options :

| x TERETEH

, w HEFIEATH

; « FFOAETIEH

[
d
o EeATTaHcca o H

Question Number : 150 Question Id : 60092912727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AFATHICTAR ‘TSIF (T e HTA?

Options :

* L o
| EPREIET O]



S B ICRICC ARG EE Y

S.HEEEE:

L) l
4 % addidaamNlidaAal

Question Number : 150 Question Id : 60092912727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFATAICATTAR TSATF o Hreel safa?

Options :

1, v SRARGlda R ErER

I B IR ICC ARG EE

; % SIeRUBRUTEINul

L) l
4. % addidaamHlidaHal

Question Number : 151 Question Id : 60092912728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFATH: FH HAAT FTveeT FFareaia?

Options :

. TEATH

1



2, w TR

y % SNUSTIheaTH

, x FAIHAH

Question Number : 151 Question Id : 60092912728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFATH: FH HAAT FTueeT Fraragfa?

Options :

| @ TEHH

Question Number : 152 Question Id : 60092912729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
REfsmmefaar: oo $¥ g
Options :

TEEer

1. =



waqﬁ:wmsm@r

4.

Question Number : 152 Question Id : 60092912729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RfsFarsimar: soor@: F3 graa?
Options :

1. = = %\T

- aJramﬂtﬁs‘r

3‘um

waqﬁ:wmsm@r

4.

Question Number : 153 Question Id : 60092912730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HAEG HET AT 3EEIUTH HIEA?

Options :




Question Number : 153 Question Id : 60092912730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST SR 3T I 3ETEIUH HEA?

Options :

| o TE feEfd

Question Number : 154 Question Id : 60092912731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIiauieshradAY &1 Fufea: safa?



Options :
1« FHAT

5w e

Question Number : 154 Question Id : 60092912731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gifgafeedar 1 fTufFa: =93

Options :
1« FHAT

5w e

Question Number : 155 Question Id : 60092912732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TUTgerd AATCHTH i FIAUT & HAT afa?




Options :

2. % "
3.\-_/#
4_@53‘1%

Question Number : 155 Question Id : 60092912732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

2. % T
3 FH
4. % E D Cany

Question Number : 156 Question Id : 60092912733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fodr FHOT TAERNE T F =@

Options :




Question Number : 156 Question Id : 60092912733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foal HHOT TAETRE T & =@

Options :

L% FH

3, v HHACTETH

4, % SCIAH

Question Number : 157 Question Id : 60092912734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUTTCASTH:’ ST g ITFI: 317
Options :
R



Question Number : 157 Question Id : 60092912734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUTTeATSTE:’ ScaF g 3TEI: 3417
Options :
1w =F

0.« Fedl:

3. % 9

s 3

Question Number : 158 Question Id : 60092912735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U Ue T TUS' U gArdNauTds FIA AT

Options :

| x TEGFASHHE



, x TTUFHIH FIOTH

3_w34qa?‘?q?ﬁm
4 v &

Question Number : 158 Question Id : 60092912735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUSH T HT GUS' Ueg gardlaurdes FIH HiEd-

Options :

HEGFAS T

1. =

, w TR FHIOTH

3.u34n-=|€%q?ﬁ'u'r
4 v B

Question Number : 159 Question Id : 60092912736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Terd:’ Scd o Joda:?

Options :
1 ® &



Question Number : 159 Question Id : 60092912736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Terd:’ Scd o Joda:?

Options :
Bk

) o Fd
3w UL

PE |

4. % =

Question Number : 160 Question Id : 60092912737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FATT T afda werm 3fee

Options :

l.v"i *

, » fEFTHEH



Question Number : 160 Question Id : 60092912737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FAaq Tead= A TeR wEe-

Options :

l.v"i ‘“

5 % AT

4 % TLI
Discipline4
Group Number : 9
Group Id : 600929533
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 600929688

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929824

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 60092912738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT g9 & T aT: JgFd?

Options :
L% T

2. % A4

3. ¢ =



Question Number : 161 Question Id : 60092912738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘AfEeT =0y & 9T TYeF:?

Options :
Lx T

2. % A

3.¢

-

4. °

Question Number : 162 Question Id : 60092912739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA+FAT TedaeT o & Heafa?
Options :

1.um

2_&53@5@
3. % eTecd]

4.« oleedl

Question Number : 162 Question Id : 60092912739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘TH+FAT SO [ &9 Heafa?

Options :

l.wm

Z.MF@ET
3 ®% ofeedl

4. oleedl

Question Number : 163 Question Id : 60092912740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAT 9 F: Teqd:?

Options :

| % Sl

chlel =]

2' 2-"5 -

3w AT

Question Number : 163 Question Id : 60092912740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FAT I F: FeIT:?
Options :
| s SeRT

CAGE]

2. ~

3 o U

Question Number : 164 Question Id : 60092912741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘R+geag §oer &F w9 faenfae

Options :

Question Number : 164 Question Id : 60092912741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fr+deqq T F & faeafa?

Options :

Question Number : 165 Question Id : 60092912742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& FHICag=H: e Hea?
Options :

| % HelH

-

) » FURA
3 v ¥
4 % T

-

Question Number : 165 Question Id : 60092912742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& FHICAHS: Feqdq: HET?
Options :
1. =

-

) % FUH
3 v B
4.*“5%(_{

-

Question Number : 166 Question Id : 60092912743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& FH=IgEIS: Jegd:?
Options :

) w HA

Question Number : 166 Question Id : 60092912743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



F: qqfﬂmw: Heg:?
Options :

| = 3T

) w Y

Question Number : 167 Question Id : 60092912744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HARRET  $UH HAAAFrde FET 3 7

Options :
| % ehoaHd

) T
3.ME

4 % THTEEHE:

Question Number : 167 Question Id : 60092912744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



¥ sfafafenfafal © san AfEAEEeae FE sl #Ea?
Options :
| % SUIHET

) v T
3.“5
4 % THTEEHET:

Question Number : 168 Question Id : 60092912745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTeAFANTTATINET TaRITATH.... ScaF ‘TaieedaT 96 & 3Fd:?
Options :

1. v Hendm

9 ® 3'17=qu
3 % vTa

4 % FUT:

Question Number : 168 Question Id : 60092912745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UTAFATEARIET ITavaATH.... a7 gioiwefia T 9¢a & 3Fa:?
Options :
|« HoegHAl:

) ® 3'17§Fi
3 % FTa

4 % TTUT:

Question Number : 169 Question Id : 60092912746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AN Seael ‘EFagSed’ HIEAA 3 AT ?

Options :

l_wm
2. x BIEET

y x A
e

4.4 3

Question Number : 169 Question Id : 60092912746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HAATAUSecTel ‘haSed’ HIEAA 3k TTd?
Options :

l.um
)« S

3 %
ELE

4.« 3

Question Number : 170 Question Id : 60092912747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HUETea! GRA FeeeRddIaTEcal dead: Taded T UGAI: FT IeAA?
Options :

s« SAmaTEdrafay

HiAATHITF T
4. 3

Question Number : 170 Question Id : 60092912747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HTEArAl g g deedl qead: Tadeq 3T YA HF Teaa?
- -

Options :

s w semaTEdafayy

HiAATFITFRao
4. & 2

Question Number : 171 Question Id : 60092912748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TARAfT @ 7 ¥ A 5 507 7 959 F gRa?

Options :
| ® ohod:

2.\'--*"E :
3 % FTE

4 % Fﬂﬁl

Question Number : 171 Question Id : 60092912748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Tafitafa @1 7 7 aftas® ' fooT 7 9weq F gRa?

Options :
| ® ohod:

2.\'--*"E :
3 % FTE

4. % HATdfer:

Question Number : 172 Question Id : 60092912749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g TR $fa AfAAeGeaeed aqY 1 FET FUAA?

Options :

| % FFET

4 % HUIGET

Question Number : 172 Question Id : 60092912749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fg: aerer 3t s edeey IqY 3% FET FUAA?

Options :

| % FEET

4 % hUdH]

Question Number : 173 Question Id : 60092912750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEr framaATyd g’ 87 3fEF: $9 9reua
Options :

l'gm

Haﬁ:wm;m@r

2.
R

3. %

O EGIEIE L

4, % 3

Question Number : 173 Question Id : 60092912750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘Fer foRarATyd g 39 3fEE: $F 9reaa
Options :

l'gm

Zwaqﬁlwmsmﬁr

awafrﬁa‘r

4, %

Question Number : 174 Question Id : 60092912751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HET T o€ HATd! TET TFHRSAH HT ‘Hafa T TAHACH H TEaiear?

Options :

T

» % HOTEdT

3 % e

4 hepdl



Question Number : 174 Question Id : 60092912751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HET T oL Hald! TET TFHSAH HT ‘HAfa T TAHACH H TFaear?

Options :

L T

» % HOredT

3. % lered

4 hepdl

Question Number : 175 Question Id : 60092912752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Ararear F EErEenT graear v Uy’ sioesasea Iia A S ?
Options :
HHATEFT

1. = =

) #® CEiESap=2)
3 o HIdHET

4 % CIEHUTET

Question Number : 175 Question Id : 60092912752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘Ararear F ETaenr graredr v Uy’ saesased Iia TS ?
Options :
HHATT

1. % =

) QRITYUET
3 o HIdHT

4 % CTEAUTET

Question Number : 176 Question Id : 60092912753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TR GUITE ST ‘JUT YAl IiErfoan: Juim: afea-
Options :

B9 %

1. =

> 6 T LA

-8 . -

L« TTAE

g0 TELLA

Question Number : 176 Question Id : 60092912753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



‘ST TUI ST ‘TUT FedlgR qREToran: ol Jfed-
Options :
|« ETAT

Lo TITA

Question Number : 177 Question Id : 60092912754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTHATSTaS T R

Options :

1. % :'“ o .
2, @ Fa% T
3. 0w e

T

4.% T3

Question Number : 177 Question Id : 60092912754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UTHATSES T R
Options :

Luaﬂqa;rm:
, o ¥E o
, x 3T A0

3TEOT:

4.% T3

Question Number : 178 Question Id : 60092912755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I+ STET FiewgEd w9 A

Options :

| % ST
) v TaT
3.uw

4 % SEAT

Question Number : 178 Question Id : 60092912755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
AT+l ScUET Wieugad &9 fhA?

Options :

E LGl
) v eI
3_%5&53[

4 % 9EAT

Question Number : 179 Question Id : 60092912756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘STeca wiews F AEd?

Options :
. BCIEIE]

4.« deoold:

Question Number : 179 Question Id : 60092912756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A Wiew:' T AEA?
Options :
. BCIEIE]

4.« doold:

Question Number : 180 Question Id : 60092912757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teaea@a 305 Aleuea=oe: &7
Options :

| T + ot
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3. % "-Ew“+

L% faeae= + e

Question Number : 180 Question Id : 60092912757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Teaieadia’ scasy glufe=ae: &2

Options :

|, v (e + feratd
», » T e
5, w el S
o » HEET R

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Discipline5

10
600929534

Discipline5

600929689
1

Online
Mandatory



Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929825
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 60092912758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bragaer & A sEa?
Options :

1. ey

Question Number : 181 Question Id : 60092912758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BaEarET & gA: sEa?
Options :

1. ¢ 2 o



Question Number : 182 Question Id : 60092912759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o9 TTATT W' SUET FAEAIE FA?
Options :

, fodaAm

1. 2

2 ﬁﬂ?i

3w T
4'wﬁ"‘jﬂ'

Question Number : 182 Question Id : 60092912759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 TTATT W' SUTT FHEIIS FA?
Options :

. e

l. =




). v e
5w fodar
4w e

Question Number : 183 Question Id : 60092912760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRt g7 +: gamg:?
Options :

[ ERCEEETCE

, % FHREFeed:

, » GARREHCE:

4%34 S

Question Number : 183 Question Id : 60092912760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRt sco7 = maEE?
Options :

\ -
|« LendlNgE g -
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Question Number : 184 Question Id : 60092912761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HY BFH ‘HoaoEg (A1) 3SE0TH?
Options :

| % SHe[TH

Question Number : 184 Question Id : 60092912761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HY FF ‘Hoausy (ATET) 3SEuTH?
Options :
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Question Number : 185 Question Id : 60092912762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HAFTIH Fcdd & HHME:?

Options :

1. = j =

PR G

-

Question Number : 185 Question Id : 60092912762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HATFIH FcOF & FHHME:?

Options :

1. = j =



4.{/51?-}'

.

Question Number : 186 Question Id : 60092912763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘regTTFET JuFYsTY TrEw a9 sfa FE reeRET FefuTH?

Options :

l.¥ 2

) % YHDET
3 % Qm
4 % ZHEEE =)

Question Number : 186 Question Id : 60092912763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘WecATET SvEYsT TvET a9 =Y I eeRET FETuTH?
Options :

lL.¥ 2




Question Number : 187 Question Id : 60092912764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘ 7 :?
QU e T §f FE elenEd S8 T4

Options :
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3. 0w =
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Question Number : 187 Question Id : 60092912764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU e T 3 FET HoIFRET 8 T2
Options :
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Question Number : 188 Question Id : 60092912765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘FATTATNTARITTH STF F: HAF:?
Options :

HAHTH:

1. = =

2.¥ =

3 % 2O

, x TIRH

Question Number : 188 Question Id : 60092912765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FATTALTARETH FIT T IAFR:?
Options :

HeASTH-

L% T




Question Number : 189 Question Id : 60092912766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘ 7 :?
YaH ST FET HAIFET e

Options :
1 ® JHHMET:

) ® ¥HhET

3. @ 3?';5'-“1“3

Question Number : 189 Question Id : 60092912766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
] . :.?
JIH 31 FET WO ATH:

Options :
1 ® JHHMET:

7 % WHIREFT



Question Number : 190 Question Id : 60092912767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HTATT AvcHee FEUAIRTEA: T Sc0F &: HoTah:?
Options :

1. T am

) ® "R H
3 ® 3?';[5"“'

4 % O

Question Number : 190 Question Id : 60092912767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

R i

2. a‘\s T



3 % 3?';[&"”'

4 %

Teaching Methodology
Group Number : 11
Group Id : 600929535
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 600929690
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929826
Question Shuffling Allowed : Yes



Question Number : 191 Question Id : 60092912768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which policy does not make any difference between the genders?
Options :

1. # Gender-aware policy

2. # Gender-neutral policy

3. % Gender- equality policy

4. % Gender-specific policy

Question Number : 191 Question Id : 60092912768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I Af fefiT & g Pis SfeR Ta il &2
Options :

1. % fofr-SmRee Hifd

2. % foi-dewy Hifd

3. ¢ foivT. Jwdr Hifa

4. % for-fafRmy Hifd

Question Number : 192 Question Id : 60092912769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of this is not the hierarchy needs of Maslow?
Options :

1. % Phycological needs

2. ® Safety needs

3. ¥ Shelter needs

4. ¥ Prestige needs

Question Number : 192 Question Id : 60092912769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

20 I DI AR BT ARG dT UG H ol 82
Options :
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2. ® TR ATIDHATY

3. ¢ 3TYY ATIYH Y

4. % YfAST 3TaRgH AT

Question Number : 193 Question Id : 60092912770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Creating supportive environment for critical and creative writing comes under which strategy for promoting active learning?
Options :

1. ¥ Creative learning

2. # Problem solving

3. % Visual-based learning

4. # Co-operative learning

Question Number : 193 Question Id : 60092912770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATATHS 3R TIATHD <RI & oIt TgTIS TRl ST Tfehd e &Y ggrar o= & for forg Yomiifa & siafa smarg?
Options :

1. ¥ JJATHD AT

2. % YT 8d

3. % TXY-IMYUTRT I

4. % gggnl 3fega

Question Number : 194 Question Id : 60092912771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is termed as the conversation between the teacher and students in the classroom?
Options :

1. # Language acquisition

2. # Language device

3. # Language curriculum

4. ¥ Language discourse

Question Number : 194 Question Id : 60092912771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He T R 3R BE1 & sid YaR &I 1 BT Sl 62
Options :

1. % YT9T 3foiH

2. % YN 3YHRT[

3. % YN UISIhH

4. YN Ydd-q

Question Number : 195 Question Id : 60092912772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of this is not a level of language?
Options :

1. * Phonetics

2. % Morphology

3. % Syntax

4. ¥ English

Question Number : 195 Question Id : 60092912772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH ¥ DI AT YT BT R e 87

Options :



1. % IRIAFHE
2. % 3{THidfa
3. % grafa=arg
4. ¢ 3T

Question Number : 196 Question Id : 60092912773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What accelerates the use of drama & art in education in students?
Options :

1. # Emotional development

2. ¥ Personality development

3. % Physical development

4. # Health development

Question Number : 196 Question Id : 60092912773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ oar aE | e & Aed 3R Sl b SN &I @aRd Hdr g2
Options :

1. % YgATHSD fab

2. ¢ Afadd fas

3. % IRING fab™

4. % WY [dp1Y

Question Number : 197 Question Id : 60092912774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The use of more than two languages is called as

Options :

1. # Bilingualism



2. % Multilingualism
3. # Monolingualism

4. % Quadrolingualism

Question Number : 197 Question Id : 60092912774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Y 3D HTISHT o TN Bl EHISIGI
Options :

1. % fguried

2. ¢ SgHIDT

3. ® UhHIHT

4. % FUSTHIRGar

Question Number : 198 Question Id : 60092912775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the main types of assessment?
Options :

1. ¥ Formative and Summative

2. ® Multiple choice question

3. # Long and short question

4. ® QObjective and subjective

Question Number : 198 Question Id : 60092912775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH T & T UHR T 82

Options :
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3. % T 3R BIC UY
4. % TS SR AfFARS

Question Number : 199 Question Id : 60092912776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inclusive education rejects the use of which schools and classrooms?
Options :

1. % Private school

2. % Government school

3. % Special school

4. # Cooperative school

Question Number : 199 Question Id : 60092912776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TrTaRft R o faemer oiR Fenstt & IuaNT 1 SRR el 52
Options :

1. % foft foemmerg

2. % BRI faeray

3. ¢ faviy ferer

4. % ggpRI fdemey

Question Number : 200 Question Id : 60092912777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The children having curly hair similar to their parents is an impact of which factor?
Options :

1. # Social

2. ¥ Genetic

3. % Economical



4. ¥ Psychosocial

Question Number : 200 Question Id : 60092912777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATA1-fOdT & THH GORTd a1 91d §a [y HRe BT UHTd BidT 82
Options :

1. % TSI

2. ¢ 3{AiRIB

3. % fhmrdl

4. % TANGHISD



